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1(1). Allepe port is situated on the coast of
(A) Tamil Nadu
(B) Kerala
(C) Karnataka
(D) Andhra Pradesh

From which one of the following
Harappan Sites evidence of
Pit-dwellings have been founded ?

1().

(A) Rakhigarhi
(B) Banawali
(C) Prabhash-Patan

(D) Kunal

1(Il1). Which one of the following is not the
stage of economic growth of Rostow ?

(A) The stage of traditional society
(B) The stage of take-off

(C) The stage of high investment
(D) The drive to maturity

1(IV). Who said, “Political Science begins
and ends with the State” ?

(A) Acton
(B) Gilchrist
(C) Garner

(D) Dimock '
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10.

11.

12.

13.

‘Eushmen-Hnrlentct' race is concerned

with .
(A) Negroid

B) Caucasoid

(C) Mongoloid

(D) Australoid

hat is the reason behind not equal

;Tvision of day and night on.Earth ?
(A) Rotation of Earth on axis

(B) Revolution of Earﬂj around the sun
(C) Earth orbit is georq _
(D) Tilting of Earth on its axis

Examine the following statements and
select the correct ansuﬂ using the

code given below.
1. Fog lifts up when the ground gets

heated as the sun comes up,
2. Fog occurs in the early mormning
due to radiational cooling.

Code :

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct
(D) Neither 1 nor 2 is correct

Which one of the following is generally
found in sedimentary rocks ?

(A) Basalt (B) Shale
(C) Silica (D) Magnesium

Which one of the following is correct
classification of resources according
to availability ?
(A) Ubiquities, Commonalities, Rarities
(B) Unused, Potential, Latent
(C) Sustainable, Improvable,

Non Improvable
(D) Unused, Potential, Rarities

}Nhich one of the following Indian states
IS not traversed by Tropic of Cancer ?
(A) Tripura (B) Mizoram

(C) Manipur (D) West Bengal
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Graben is the product of @
(A) Weathering (B) Folds
(C) Faults (D) Erosion

‘Continental Drift Theory is affirmed'.
Which statement/statements is/are
true ?

1. Computer estimates of topographic
fit of continent coasts. '

2. New investigations regarding
geological similarities between
the southern continents.

3. Paleomagnetic studies.

4. Evidences of sea-floor spreading.

(A) 1,2and 3
(B) 1,3and 4
(C) 2,3and 4
(D) 1,2,3and 4

Placer deposits are found in

(A) Alluvial fans and Valley floors

(B) Delta and Loess

(C) Till Plain and Crevasses

(D) Submerged Coast and Solution
Valley

The rural settlements (collective farms)
of Russia is known as

(A) Village (B) Farm stead

(C) Sovkhoz (D) Home stead

Green revolution means

(A) Use of green manure

(B) Grow more crops

(C) High yield variety programme
(D) Green vegitation

Give an example of folded mountain
in South America.

(A) Rocky mountain

(B) Andes mountain

(C) Alps mountain

(D) Appalachian Mountain
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In which part of Himalayas, we find

‘Karewa' formation ?

(A) N. E. Himalayas

(B) Eastern Himalayas

(C) Himachal-Uttarakhand
Himalayas

(D) Kashmir Himalayas

*Yurt' is the house of
(A) Eskimos (B) Pygmies
(C) Bushman (D) Khirghiz

Laterite soil is found in
(A) Uttar Pradesh

(B) Himachal Pradesh
(C) Punjab

(D) Maharashtra

Hectopascal is a unit to

(A) Measure the energy

(B) Measure the air pressure

(C) Measure the thickness of ozone

layer
(D) Measure the solar radiation

Which is the largest cotton producing

state in India ?
(A) Gujarat (B) Karnataka

(C) Tamil Nadu (D) Uttar Pradesh

Leningrand Port is situated at

(A) Canada (B) Russia
(C) Australia (D) Japan
For resource conservation it is

(A) Maintain balance between man
and resources
Eg; gational use of Resources
evelopment of Resource
(D) All of the above :

The correct descendin

order
manganese production cogntrias argf
(A) South Africa, Australia,

China, India

(C) Australia, China |
South Africa o
(D) India, Chha.Soummr‘m,Aushajla
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how many Adh

State ? \
(A) Twenty five

(B) Twenty twWo
(C) Twenty sgvan
(D) Twenty nine
Who is the author of Jain literature
Kuvalayamala T

(A) Uddyotana Suri

(B) Haribhadra
(C) Maheshara Surn
(D) Gunachandra

Fromwhich of the following ruler Jharokha-
darshan was discontinued ?

(A) Akbar (B) Jahangir

(C) Shahjahan @y Aurangzeb

Tipu Sultan of Mysore was forced to
become a Subsidiary State after which
war ?

(A) First Anglo-Mysore War

(By Second Anglo-Mysore War

(C) Third Anglo-Mysore War

(D) Fourth Anglo-Mysore War

From which of the following place
‘Agni Mandir' (Fire temple) has been
found 7

(A) Kapisha

(B) Surkh-Kotala

(C) Charasadda

(D) Shahabajagarhi

Who was the author of Pad shahnama,
an official history of the reign of
Shahjahan in his eighth regnal year ?
(A) Motamid Khan '

(B) Abdul Hamid Lahori

(C) Muhammad Amin Qazvini

(D) Muhammad Waris
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55.

(A) 1848 AD.
(B) 1849 A.D.
(C) 1855 A.D.
(D) 1856 A.D.
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Who was the author of the book
'‘Setubandha’ a Sanskrit Kavya 7

(A) Rudrasena Il

(B) Pravarasena 1

(C) Narendrasena

(D) Prithvisena |l

61.

Jauna Khan was the first name of
(A) Alauddin Khilji
(B) Ghiyas-ud-din Tughlug
Muhammad-bin Tughiug
(D) Firuz Shah Tughluq
Who was the founder of Deccan
Sabha ?
(A) Mahadeva Govind Ranade
(B) Dadabhai Naoroji
(C) Gopal Krishna Gokhale
(D) Bal Gangadhar Tilak

54. |n which year Lord Dalhousie
announced that the successor of
Mughal Emperor Bahadur Shah
would have to vacate the Red Fort ?

(A) 1848 A.D.
(B) 1849 A.D.
(C) 1855 A.D.
(D) 1856 A.D. ||

52.

53.

In Delhi Sultanate, Barid-i-Mumalika

was the Officer of the

(A) Law Department

(B) Chief of Nobles

(C) Head of Intelligence and Spies

(D) Chief of Army

55.

56. Which one of the following Chola Kings
who had conquered entire Ceylon
(Singhal) ?

(A) Rajendra b~
(B) Rajaraja |
(C) Kulottunga |

(D) TSt

(D) Rajadhiraja
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